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1 The length of a rectangle is 4
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perimeter is 8. Find the | & w. X
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~ GRAPHING Y SUBSTUTON N
*Graph both lines and see where they cross sglsfe\g?srn an equation akready has a variable
\' 7 *Substitute one equation into the other and solve
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*Use when both equations hove x and y on same
side

groph both mequoll‘rles on the same groph
overlcp [double shaded region] is the sqlution ..
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Given the sequence 5, 8 11, 14,17, What s

the commoa difference?
What is the explicit formul
An= B¥3(n-1)
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What is the 75 term (ars)?2
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e Every input can only have ONE output
e Must pass the vertical line test

IDENTIFY
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If f(x) = 5x + 2, find f(7)
=b(T)42 @

If f(x) = 10 and f{x) = 2x - 6, find x.

10=2x-l

Find f(x)-+"g(x) if f(x) = 2x + 4 and g{x) = 3x -1
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Find 4g(x} - f(x)
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Same as S @RI : change iny over
the change in x
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Equation of the line: \‘l'; ‘ X = j
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